

The Lie–Bäcklund algebra for the general underdetermined equation $u_r = f(x, u, \dots, u_{r-1}, v, \dots, v_k)$

Paul H M Kersten

Faculty of Applied Mathematics, University of Twente, PO Box 217, 7500 AE Enschede, The Netherlands

Received 30 August 1991; in final form 21 January 1992
Accepted by M Jimbo

Abstract. The Lie–Bäcklund symmetry algebra for the equation $u_r = f(x, u, \dots, u_{r-1}, v, \dots, v_k)$ is established.

AMS classification scheme numbers: 35Q20

1. Introduction and general

In a recent paper Anderson, Kamran and Olver [1] discussed internal, external and generalized symmetries and their interrelations. As an application they established the equivalence between first-order generalized symmetries and internal symmetries for the equation

$$u'' = F(x, u, u', v, v', v''). \quad (1.1)$$

As an example of such a type of equation they discussed the remarkable Hilber–Cartan equation [2, 3]

$$v_x = (u_{xx})^2 \quad (1.2)$$

and showed that for this equation there exist genuine internal symmetries, meaning those which cannot be obtained by restriction of an external symmetry to the solution manifold, cf. [1]. The Lie–Bäcklund algebra of (1.2) was not known. The algebra of generalized or Lie–Bäcklund symmetries associated to (1.2) was constructed in [4].

Here we shall establish the Lie–Bäcklund symmetry algebra for the general underdetermined equation

$$u_r = f(x, u, u_1, \dots, u_{r-1}, v, \dots, v_k) \quad (1.3a)$$

where in (1.3a)

$$\begin{aligned} u_r &= \left(\frac{d}{dx}\right)^r u(x) \\ v_k &= \left(\frac{d}{dx}\right)^k v(x). \end{aligned} \quad (1.3b)$$

We assume $k > r$, otherwise we have to reverse the role of u and v . In section 2 we shall treat the case $r = 3, k = 5$. The general situation can be handled in a completely analogous way and is briefly discussed in section 3. From the results in this paper genuine internal symmetries can be obtained.

2. The Lie-Bäcklund symmetry algebra (case $r = 3, k = 5$)

We consider the general underdetermined equation

$$u_3 = f(x, u, u_1, u_2, v, v_1, \dots, v_5) \tag{2.1}$$

and introduce the total derivative operator D defined on the infinite jet bundle $J(x; (u, v))$ [5], i.e.

$$D = \partial_x + u_1 \partial_u + v_1 \partial_v + u_2 \partial_{u_1} + v_2 \partial_{v_1} + \dots \tag{2.2a}$$

and its restriction to $J^{n+1}(x; (u, v))$, i.e.

$$D^{(n+1)} = \partial_x + u_1 \partial_u + v_1 \partial_v + \dots + u_{n+1} \partial_{u_n} + v_{n+1} \partial_{v_n}. \tag{2.2b}$$

In effect we use the restriction of $D^{(n+1)}$ (2.2b) to the submanifold \mathcal{Y} of $J^{(n+1)}(x; (u, v))$ defined by (2.1) and its differential consequences up to and including $(n - 4)$ th order. Local coordinates on \mathcal{Y} are given by

$$x, u, u_1, u_2, v, v_1, \dots, v_{n+1}. \tag{2.3}$$

Now the vector field V , with defining functions F^0, H^0 , i.e.

$$V = F^0 \partial_u + H^0 \partial_v + \dots \tag{2.4}$$

is a generalized symmetry of (2.1) if and only if (cf. [6, 7])

$$D^3 F^0 = \sum_{i=0}^2 \frac{\partial f}{\partial u_i} (D^i) F^0 + \sum_{j=0}^5 \frac{\partial f}{\partial v_j} (D^j) H^0 \tag{2.5}$$

where $D^i = D \circ D \circ \dots \circ D$ (i times). It is an easy observation that (2.5) leads to the condition

$$F^0 = F^0[n] = F^0(x, u, u_1, u_2, v, \dots, v_n) \tag{2.6a}$$

$$H^0 = H^0[n - 2] = H^0(x, u, u_1, u_2, v, \dots, v_{n-2}) \tag{2.6b}$$

where in (2.6) we introduced the notation ‘ $[n]$ ’ to indicate the dependency on the variables $x, u, u_1, u_2, v, \dots, v_n$.

In what follows, n (cf. (2.6)) is taken to be sufficiently large as to avoid interference of terms with their coefficients (cf. [2]). *At the end of this section we summarize the solution procedure.*

We introduce $F^1, F^2, H^1, H^2, H^3, H^4$ by

$$F^1[n + 1] - D^{(n+1)} F^0[n] = 0$$

$$F^2[n + 2] - D^{(n+2)} F^1[n + 1] = 0 \tag{2.7}$$

$$H^1[n - 1] - D^{(n-1)} H^0[n - 2] = 0 \tag{2.8a}$$

$$H^2[n] - D^{(n)} H^1[n - 1] = 0 \tag{2.8b}$$

$$H^3[n + 1] - D^{(n+1)} H^2[n] = 0 \tag{2.8c}$$

$$H^4[n + 2] - D^{(n+2)} H^3[n + 1] = 0 \tag{2.8d}$$

and condition (2.5) is rewritten as

$$D^{(n+3)}F^2[n+2] - \sum_{i=0}^2 g_i F^i[n+i] - \sum_{j=0}^4 f_j H^j[n-2+j] - f_5 D^{(n+3)}H^4[n+2] = 0 \quad (2.9)$$

and

$$g_i = \frac{\partial f}{\partial u_i} \quad (i = 0, 1, 2)$$

$$f_j = \frac{\partial f}{\partial v_j} \quad (j = 0, \dots, 5).$$

We shall now construct the general solution of (2.5), i.e. (2.7), (2.8) and (2.9), step by step. First of all we put

$$F^2[n+2] = f_5 H^4[n+2] + F_1^2. \quad (2.10a)$$

Substitution of (2.10a) into (2.9) and looking for highest-order terms in (2.9) we observe that

$$F_1^2 = F_1^2[n+1] \quad (2.10b)$$

and (2.9) reduces to

$$D^{(n+2)}F_1^2[n+1] - g_0 F^0[n] - g_1 F^1[n+1] - g_2 F^2[n+1] - f_0 H^0[n-2] - f_1 H^1[n-1] - f_2 H^2[n] - f_3 H^3[n+1] + ((D - g_2)f_5 - f_4)H^4[n+2] = 0. \quad (2.11)$$

If we put

$$\alpha_0 = f_4 - (D - g_2)f_5 \quad (2.12a)$$

$$B_0 = f_5. \quad (2.12b)$$

Then (2.11) and (2.7) are rewritten as

$$D^{(n+2)}F_1^2[n+1] - \alpha_0 H^4[n+2] - g_0 F^0[n] - g_1 F^1[n+1] - g_2 F_1^2[n+1] - f_0 H^0[n-2] - f_1 H^1[n-1] - f_2 H^2[n] - f_3 H^3[n+1] = 0 \quad (2.13a)$$

$$-D^{(n+2)}F^1[n+1] + \beta_0 H^4[n+2] + F_1^2[n+1] = 0 \quad (2.13b)$$

$$-D^{(n+1)}F^0[n] + F^1[n+1] = 0. \quad (2.13c)$$

In (2.11) and (2.12a), Df_5 means 'total derivative of f_5 '. We now solve (2.8d) for $H^4[n+2]$ in terms of a total derivative of $H^3[n+1]$, i.e.

$$H^4[n+2] = D^{(n+2)}H^3[n+1] \quad (2.14a)$$

and put

$$F^1[n+1] = \beta_0 H^3[n+1] + F_1^1[n] \quad (2.14b)$$

$$F_1^2[n+1] = \alpha_0 H^3[n+1] + F_2^2[n] \quad (2.14c)$$

where it is easily observed that $F_1^1 = F_1^1[n]$ and $F_2^2 = F_2^2[n]$ due to the vanishing of highest-order terms in (2.13a) and (2.13b). Equations (2.13) reduce to

$$D^{(n+1)}F_2^2[n] - \alpha_1 H^3[n+1] - g_0 F^0[n] - g_1 F_1^1[n] - g_2 F_2^2[n] - f_0 H^0[n-2] - f_1 H^1[n-1] - f_2 H^2[n] = 0 \quad (2.15a)$$

$$-D^{(n+1)}F_1^1[n] + \beta_1 H^3[n+1] + F_2^2[n] = 0 \quad (2.15b)$$

$$-D^{(n+1)}F^0[n] + \gamma_1 H^3[n+1] + F_1^1[n] = 0 \quad (2.15c)$$

where $\alpha_1, \beta_1, \gamma_1$ are defined by

$$\alpha_1 = -D\alpha_0 + g_1\beta_0 + g_2\alpha_0 + f_3 \tag{2.16a}$$

$$\beta_1 = -D\beta_0 + \alpha_0 \tag{2.16b}$$

$$\gamma_1 = \beta_0. \tag{2.16c}$$

Now by solving (2.8c) for $H^3[n + 1]$, i.e.

$$H^3[n + 1] = D^{(n+1)}H^2[n] \tag{2.17a}$$

and putting

$$F^0[n] = \gamma_1H^2[n] + F^0_1[n - 1] \tag{2.17b}$$

$$F^1_1[n] = \beta_1H^2[n] + F^1_2[n - 1] \tag{2.17c}$$

$$F^2_2[n] = \alpha_1H^2[n] + F^2_3[n - 1] \tag{2.17d}$$

whereas the dependencies of F^0, F^1_1, f^2_3 arise from highest-order terms (2.15) reduces to

$$+D^{(n)}F^2_3[n - 1] - \alpha_2H^2[n] - g_0F^0_1[n] - g_1F^1_2[n - 1] - g_2F^2_3[n - 1] - f_0H^0[n - 2] - f_1H^1[n - 1] = 0 \tag{2.18a}$$

$$-D^{(n)}F^1_2[n - 1] + \beta_2H^3[n] + F^2_3[n - 1] = 0 \tag{2.18b}$$

$$-D^{(n)}F^0_1[n - 1] + \gamma_2H^2[n] + F^1_2[n - 1] = 0 \tag{2.18c}$$

where $\alpha_2, \beta_2, \gamma_2$ are given by

$$\alpha_2 = -D\alpha_1 + g_0\gamma_1 + g_1\beta_1 + g_2\alpha_1 + f_2 \tag{2.19a}$$

$$\beta_2 = -D\beta_1 + \alpha_1 \tag{2.19b}$$

$$\gamma_2 = -D\gamma_1 + \beta_1. \tag{2.19c}$$

By solving $H^2[n], H^1[n - 1]$ in terms of $H^0[n - 2]$ we finally arrive at the system

$$D^{(n-2)}F^2_5[n - 3] - \alpha_4H^0[n - 2] - g_0F^0_3[n - 3] - g_1F^1_4[n - 3] - g_2F^2_5[n - 3] = 0 \tag{2.20a}$$

$$-D^{(n-2)}F^1_4[n - 3] + \beta_4H^0[n - 2] + F^2_5[n - 3] = 0 \tag{2.20b}$$

$$-D^{(n-2)}F^0_3[n - 3] + \gamma_4H^0[n - 2] + F^1_4[n - 3] = 0 \tag{2.20c}$$

where $\alpha_3, \beta_3, \gamma_3$ and $\alpha_4, \beta_4, \gamma_4$ are defined by

$$\alpha_3 = -D\alpha_2 + g_0\gamma_2 + g_1\beta_2 + g_2\alpha_2 + f_1 \tag{2.21}$$

$$\beta_3 = -D\beta_2 + \alpha_2$$

$$\gamma_3 = -D\gamma_2 + \beta_2$$

and

$$\alpha_4 = -D\alpha_3 + g_0\gamma_3 + g_1\beta_3 + g_2\alpha_3 + f_0 \tag{2.22}$$

$$\beta_4 = -D\beta_3 + \alpha_3$$

$$\gamma_4 = -D\gamma_3 + \beta_3$$

respectively.

So conditions (2.8a)–(2.8d) are solved and we are left with the underdetermined system (2.20a)–(2.20c); a system of three equations for which $H^0[n - 2], F^0_3[n - 3], F^1_4[n - 3], F^2_5[n - 3]$, are to be determined.

Solving (2.20a) for $H^0[n-2]$ in terms of F_3^0 , F_4^1 , F_5^2 and by substitution into (2.20b) and (2.20c) we arrive at

$$-D^{(n-2)}F_4^1[n-3] + \frac{\beta_4}{\alpha_4} D^{(n-2)}F_5^2[n-3] + \left(1 - \frac{\beta_4}{\alpha_4} g_2\right) F_5^2[n-3] - \frac{\beta_4}{\alpha_4} g_1 F_4^1[n-3] - \frac{\beta_4}{\alpha_4} g_0 F_3^0[n-3] = 0 \quad (2.23a)$$

$$-D^{(n-2)}F_3^0[n-3] + \frac{\gamma_4}{\alpha_4} D^{(n-2)}F_5^2[n-3] - \frac{\gamma_4}{\alpha_4} g_2 F_5^2[n-3] + \left(1 - \frac{\gamma_4}{\alpha_4} g_1\right) F_4^1[n-3] - \frac{\gamma_4}{\alpha_4} g_0 F_3^0[n-3] = 0. \quad (2.23b)$$

From conditions (2.23a) and (2.23b) we obtain by

$$F_4^1[n-3] = \frac{\beta_4}{\alpha_4} F_5^2[n-3] + F_5^1 \quad (2.24a)$$

$$F_3^0[n-3] = \frac{\gamma_4}{\alpha_4} F_5^2[n-3] + F_4^0$$

conditions on F_5^1 , F_4^0 . First of all note that

$$F_5^1 = F_5^1[n-4] \quad F_4^0 = F_4^0[n-4] \quad (2.24b)$$

and (2.23) reduces to

$$-D^{(n-3)}F_5^1[n-4] + \beta_5 F_5^2[n-3] - \frac{\beta_4}{\alpha_4} g_1 F_5^1[n-3] - \frac{\beta_4}{\alpha_4} g_0 F_4^0[n-4] = 0 \quad (2.25a)$$

$$-D^{(n-3)}F_4^0[n-4] + \gamma_5 F_5^2[n-3] + \left(1 - \frac{g_1}{\alpha_4}\right) F_5^1[n-4] - \frac{g_0}{\alpha_4} F_4^0[n-4] = 0 \quad (2.25b)$$

where β_5 , γ_5 are given by

$$\beta_5 = -D\left(\frac{\beta_4}{\alpha_4}\right) + \left(1 - \frac{\beta_4}{\alpha_4} g_2\right) - g_1 \left(\frac{\beta_4}{\alpha_4}\right)^2 - g_0 \left(\frac{\beta_4}{\alpha_4}\right) \left(\frac{\gamma_4}{\alpha_4}\right) \quad (2.26)$$

$$\gamma_5 = -D\left(\frac{\gamma_4}{\alpha_4}\right) - \frac{\gamma_4}{\alpha_4} + \left(1 - \frac{\gamma_1}{\alpha_4} g_1\right) \left(\frac{\beta_4}{\alpha_4}\right) - g_0 \left(\frac{\gamma_4}{\alpha_4}\right)^2.$$

System (2.25) is similar to the original system (2.20) but now there are two equations and three functions $F_5^2[n-3]$, $F_5^1[n-4]$, $F_4^0[n-4]$. So we solve (2.25) for $F_5^2[n-3]$ and substitute into (2.25b), leading to

$$-D^{(n-3)}F_4^0[n-4] + \frac{\gamma_5}{\beta_5} D^{(n-3)}F_5^1[n-4] + \delta_5 F_4^0[n-4] + \varepsilon_5 F_5^1[n-4] = 0 \quad (2.27)$$

where δ_5 , ε_5 depend on α_4 , β_4 , γ_4 , β_5 , γ_5 , g_0 , g_1 , g_2 . Finally, by putting

$$F_4^0[n-4] = \frac{\gamma_5}{\beta_5} F_5^1[n-4] + F_5^0[n-5] \quad (2.28)$$

we arrive at

$$-D^{(n-4)}F_5^0[n-5] + \delta_5 F_5^0[n-5] + \left\{-D\left(\frac{\gamma_5}{\beta_5}\right) + \delta_5 \frac{\gamma_5}{\beta_5} + \varepsilon\right\} F_5^1[n-4] = 0. \quad (2.29)$$

From this equation we obtain $F_5^1[n-4]$ in terms of the arbitrary function $F_5^0[n-5]$.

This completes the construction of the Lie-Bäcklund algebra of (2.1), since the defining functions $F^0[n]$, $H^0[n-2]$ of the generalized symmetry

$$V = F^0[n] \partial_u + H^0[n-2] \partial_v + \dots$$

are expressed by (2.10), (2.14), (2.17), (2.20a), (2.24a), (2.25a), (2.28) and (2.29) in terms of the arbitrary function $F_3^0[n-5]$.

We now summarize the solution procedure explained in detail before.

We start at the symmetry condition which can be written as a linear first-order (in D) system of differential equations (2.7)–(2.9) for the components of the vector field V , i.e. $F^0, \dots, F^2, H^0, \dots, H^4$.

(i) By a recursive procedure (2.10), (2.14), (2.17), ... the original system (2.7)–(2.9) is reduced to a much simpler linear first-order system (2.20); a system of three equations for four functions, i.e.

$$D^{(n-2)}F[n-3] - cH^0[n-2] - AF[n-3] = 0 \tag{2.30a}$$

where

$$F = \begin{bmatrix} F_3^0 \\ F_4^1 \\ F_5^2 \end{bmatrix} \quad c = \begin{bmatrix} \gamma_4 \\ \beta_4 \\ \alpha_4 \end{bmatrix} \quad A = \begin{bmatrix} 0 & -1 & 0 \\ 0 & 0 & -1 \\ -g_0 & -g_1 & -g_2 \end{bmatrix} \tag{2.30b}$$

while $\alpha_4, \beta_4, \gamma_4$ are defined recursively in terms of g_i ($i = 0, \dots, 2$) f_j ($j = 0, \dots, 5$) and their total derivatives by (2.12), (2.16), (2.19), (2.21) and (2.22). Note: in effect H^1, \dots, H^4 have been eliminated while F^0, \dots, F^2 can be expressed by (2.10a), (2.14b), (2.14c) and (2.17b)–(2.17d) in terms of F_3^0, F_4^1, F_5^2 .

(ii) By another recursive procedure the system (2.20) is reduced by (2.23), (2.24) and (2.27), (2.28) to a single ‘differential’ equation (2.29) which is of a similar form to (2.30), i.e.

$$D\bar{F} - \bar{c}\bar{H} - \bar{a}\bar{F} = 0 \tag{2.31}$$

and can be solved for \bar{H} in terms of \bar{F} .

This now leads to the following theorem.

Theorem 2.1. For every arbitrary function

$$\bar{F}(x, u, u_1, u_2, v, \dots, v_n) \tag{2.32}$$

there exists a generalized symmetry of (2.1) whose components can be expressed in term of \bar{F} , partial derivatives of f and their total derivatives. Moreover, every generalized symmetry can be obtained in this way.

3. The general case

Here we shall make a few comments concerning the construction of the Lie-Bäcklund algebra for the general case equation

$$u_r = f(x, u, u_1, \dots, u_{r-1}, v, \dots, v_l) \tag{3.1}$$

which is analogous to the case ($r = 3, l = 5$) handled in section 2. The symmetry condition on the vector field V ,

$$V = F^0 \partial_u + H^0 \partial_v \tag{3.2}$$

is given by

$$D^r F^0 = \sum_{i=0}^{r-1} g_i D^i F^0 + \sum_{j=0}^l f_j D^j H^0 \tag{3.3a}$$

where

$$g_i = \frac{\partial f}{\partial u_i} \quad (i = 0, \dots, r-1) \quad f_j = \frac{\partial f}{\partial v_j} \quad (j = 0, \dots, l). \tag{3.3b}$$

By introduction of $F^1, \dots, F^{r-1}, H^1, \dots, H^{l-1}$ by

$$\begin{aligned} F^i - DF^{i-1} &= 0 \quad (i = 1, \dots, r-1) \\ H^j - DH^{j-1} &= 0 \quad (j = 1, \dots, l-1) \end{aligned} \tag{3.4a}$$

(3.3a) is written in terms of *first-order* total derivatives as

$$DF^{r-1} - \sum_{i=0}^{r-1} g_i F^i - \sum_{j=0}^{l-1} f_j H^j - f_l DH^{l-1} = 0. \tag{3.4b}$$

We can start the solution procedure of (3.4a) and (3.4b) in exactly the same way as we did in section 2 and arrive at a system of equations similar to (2.20), which look like

$$\begin{aligned} -DF_r^0 + F_{r+1}^1 + \alpha_0 H^0 &= 0 \\ -DF_{r+1}^1 + F_{r+2}^2 + \alpha_1 H^0 &= 0 \\ \vdots & \\ -DF_{r+i-1}^{r-2} + F_{r+i}^{r-1} + \alpha_{r-2} H^0 &= 0 \\ DF_{r+i}^{r-1} + \alpha_{r-1} H^0 - \sum_{i=0}^{r-1} g_i F_{r+i}^i &= 0 \end{aligned} \tag{3.5}$$

where $\alpha_0, \dots, \alpha_{r-1}$ are constructed in the same way as $\alpha_4, \beta_4, \gamma_4$ in section 2.

System (3.5) can be written as

$$DF - \alpha H^0 + AF = 0 \tag{3.6a}$$

where

$$F = \begin{bmatrix} F_r^0 \\ \vdots \\ F_{r+i}^{r-1} \end{bmatrix} \quad \alpha_4 = \begin{bmatrix} \alpha_0 \\ \vdots \\ \alpha_{r-1} \end{bmatrix} \quad A = \begin{bmatrix} 0 & -1 & & & \\ & & -1 & & 0 \\ & & & -1 & \\ & 0 & & & -1 \\ g_0 & g_1 & & & g_{r-1} \end{bmatrix} \tag{3.6b}$$

which is similar to (2.30).

The solution procedure to solve (2.20) recursively as demonstrated in section 2 where we reduced the system (2.20), i.e. three equations with four functions to the system (2.25), i.e. a system of two equations for three functions, and finally from (2.25) to (2.29) can be applied to the system (3.5) to complete the final result in $r - 1$ steps, i.e. we have the following.

Theorem 3.1. For every arbitrary function

$$\tilde{F} = \tilde{F}(x, u, \dots, u_{r-1}, v, \dots, v_n)$$

there exists a generalized symmetry of (3.1) whose components can be expressed in terms \bar{F} , partial derivatives of f (3.1) and their total derivatives. Moreover, every generalized symmetry of (3.1) can be obtained in this way.

4. Conclusion

The construction of the Lie–Bäcklund algebra of the general underdetermined equation is established and turns out to be completely algorithmic in nature.

References

- [1] Anderson I M, Kamran N and Olver P 1990 Interior, exterior and generalized symmetries *Preprint*
- [2] Cartan E 1914 Sur l'équivalence absolue de certains systèmes d'équations différentielles et sur certaines familles de courbes *Bull. Soc. Math. France* **42** 12–48; 1953 *Oeuvres Complètes*, part II, vol 2 (Paris: Gauthier-Villars) pp 1133–68
- [3] Hilbert D 1912 Über den Begriff der Klasse von Differential gleichungen *Math. Ann.* **73** 95–108; in 1935 *Gesammelte Abhandlungen* vol 3 (Berlin: Springer) pp 81–93
- [4] Kersten P H M 1991 The general symmetry algebra structure of the underdetermined equation $u_x = (v_{xx})^2$ *J. Math. Phys.* **32** 2043–50.
- [5] Pirani F A E, Robinson D C and Shadwick W F 1979 *Local Jet Bundle Formulation of Bäcklund Transformations Mathematical Physics Studies 1* (Boston: Reidel)
- [6] Olver P J 1986 *Applications of Lie-groups to differential equations (Graduate Texts in Mathematics 107)* (Berlin: Springer)
- [7] Krasilshchik I S, Lychagin V V and Vinogradov A M 1985 *Geometry of Jet Spaces and Nonlinear Partial Differential Equations. Advanced Studies in Contemporary Mathematics* vol 1 (New York: Gordon and Breach)